
Multiply and Divide by Powers of Ten (H)Find each product or quotient.
8,6593 : 1 = 3,67 × 100 =
0,52 : 100 = 8,7 × 0,001 =
6,261 × 0,01 = 6,73 × 100 =
2,8572 : 0,001 = 3 × 100 =
2,55 : 100 = 1,9007 : 0,01 =
0,7 : 0,001 = 8,0504 × 1 =
3,782 × 0,1 = 6,2409 × 1 =
2,3 : 100 = 1,89 : 1.000 =
3,5387 × 100 = 1,73 × 1.000 =
8 × 1 = 3,5 × 1.000 =
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Multiply and Divide by Powers of Ten (H) AnswersFind each product or quotient.
8,6593 : 1 = 8,6593 3,67 × 100 = 367
0,52 : 100 = 0,0052 8,7 × 0,001 = 0,0087
6,261 × 0,01 = 0,06261 6,73 × 100 = 673
2,8572 : 0,001 = 2.857,2 3 × 100 = 300
2,55 : 100 = 0,0255 1,9007 : 0,01 = 190,07
0,7 : 0,001 = 700 8,0504 × 1 = 8,0504
3,782 × 0,1 = 0,3782 6,2409 × 1 = 6,2409
2,3 : 100 = 0,023 1,89 : 1.000 = 0,00189
3,5387 × 100 = 353,87 1,73 × 1.000 = 1.730
8 × 1 = 8 3,5 × 1.000 = 3.500
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